F value F value F value
Rest W.up EX1 EX2 EX3 EX4 EX5 F value Pvalue Fvalue

(sleep) (exercise] (interaction)
Right PFC RW  0.00=000 -001=0.00 -0.01=000 0.01=0.01 0.05=0.00"" 0.06=0.01" 0.06=0.01" F=0.152 F=63.00 F=10.276
O:Hb (mM-ecm) SD  000=000 -002=000 -0.02=000 A.00=0.01 0.04 =0.01" 006=0.01= 006=001" F=0.699 F < 0.001 F=0.947
Left PFC RW 000000 -001=000 -0.01=0.00 0.01=0.00 0.06=0.01™ 008001  0.08=0.01™ F=02562 F=60.57 F=0236
O;Hb (mM-cm) SO 000=000 -001=000 -0.02=000 Q01=0.00 0.05=0.01" 0.06=0.01" -0.07=001" F=0.621 F= 0001 P= 04963
SBF(a.u.) RW  0.01=000 -017=016 0.36=041 262=0284" 565078 T.O0=0.95"  T.59=1.058™ F=0219 F=g4.15 F= 0466
S0 001001 -044=0.08 0.28=0.34 4.05=1.05" LA™ TEF=114™ B55E124™ P=0544 P < 0.001 FP=01832
MAP (mmHg) RW 007003 602=093 2406=248" 3009=217* 2532193 1972=177 17.86=1.51" F = 0.562 F=104.92 F=0.200
S0 0.08=0.0d 476=118 2330203 23.00=132"  2254=197" 1842=204™ 1536=210" P =046 P 0,001 P=0.976




